B (R T I h )

— BB AR, ABEAE TR BIBEE, B oA B AR 09 B4R 42 TR, P AL 64 B R
RAR? BREA BREZHREEN, o RBLE T E:

A E
4 oy
| o)
X \ E
E as E
i | b
(o B__

NI BAROBy R E AV, ORI By iR B &V, RIS AR BATIE 49 B R

_ \/a2+x2+\/(c—x)2+b2

T
Vi Va

BaERgmui, =0

g — z + —(C—w) —

dz Var+z? Vi fe—3)2+b2-V5

& 1 ew 1

" Val+z2 N Vie—z)2+62 V2

sina; __ sinas

i T W



ho R BEAS G A Ao T

. sinai __ sinas

1% Va
sinas __ sinag
Va Vs
sinag __ sinag
Vs Va
. sina; __ sinas __ sinasg __ sinayg

T Ve T Vs T W )

o RFABZ R AV & ta, AITTURR, A —Fah Be=f k218
’ll;.

8

A X

B

y
XAHE—BV =29y, y&1 T A,
1 1

: 1
Sl &@ = COS == = s
B sec B \/1+tan25 \/1+(Z_Z)2

k-VzillLyQ
2 H(df) 1 2
k- 2gy = 1+(§—g)2’let o = 29k



v (14 (&) = 0

(t2 = S

dz Y

55&?%2—@/ =tan¢ ... (tan @)? = p
.y = csin?

Al dy = 2csin ¢ cos pde

dxr = 2csin¢cos ¢tan ¢pdo

= 2csin? ¢d¢

c(1 — cos2¢)do
sz =c(p— 5sin2¢) + ¢
XA MmEE r=y=0,as ¢ =0
=0
o @ =c(¢p — $sin20) = £(2¢ — sin 2¢)
y = csin’ ¢ = £(1 — cos 2¢)
= a(f —sinf)--- (1)

[4 —_ 1 x
Leta= %, 0=2¢ E‘J{ y = a(l—cosf)---(2)

A .
- e/l a
(xy)
y

X: a%‘&B%é’Jf—l—i*ﬁ%(m,y)iﬁ%E. f—2<=sinf
— % =cosf
0—22+(1-42=1
0=£+m
y=a(l—cos[Z+,/1-(1-E)?)

S EA=(0,0), RE BRI B € R E R R #hafh.
3. ﬁfi@*?%%% cycloid.

IS



